6[BEXICEAT 5%F]

BE£ AR EREHEAE i
XET# 4 |F ® £ B oA (B&REHT) (B) ISEEER
(A B & &t (B/A)
b3 2 5] £ [ S 141 55 82 137 0.97
IR I B B E|tV*R 123 55 50 105 0.85
g = B E|Vi 168 38 135 173 1.03
R OIE — B EEUR 147 67 70 137 0.93
BmE | m B FUa 147 89 71 160 1.09
B i |7 Il B E|BREEVER 147 68 78 146 0.99
B O|E 8 B E[LURR 147 80 75 155 1.05
B i | T B XtV 179 79 115 194 1.08
HEDH |E H Gl G 56 14 26 40 0.71
[T 1,255 545 702 1,247 0.99
1ECHRRAZI2a = — 3 %]
BE£ AR R HEAEB s’
XETH A |F ® % B4 (B&RHT) (B) ISEEE
(A) 5 -8 &t (B/A)
X H X H # BtV irR3azr-vay 147 94 56 150 1.02
25 |¥ Bltv #233azh-vay 147 57 138 195 1.33
ESRROZa=—avF &t 294 151 194 345 117




8[TXICET 2FH (BALHI LIS DFR) ]

X IN-| EREHEANE £ ®
XETF & |F ® £ oA (BXMEHT) (B) IS5 fEE
(A) 8 z &t (B/A)
X = T =lrvv9774 25 19 13 32 1.28
7-t77b 25 10 24 34 1.36
177 25 19 17 36 1.44
THAY 25 6 45 51 2.04
73749979 25 16 30 46 1.84
E 125 70 129 199 1.59
AR [E 81 I E#¥ W 49 26 1 27 0.55
TS 24 24 1 25 1.04
B OE 25 19 4 23 0.92
BRI 24 16 0 16 0.67
E 122 85 6 91 0.75
IR |2 B I ¥# W 25 24 0 24 0.96
BHEE 25 29 1 30 1.20
B X 49 39 0 39 0.80
e 25 18 2 20 0.80
&t 124 110 3 113 0.91
HEA |[# & I H|#E#-83E 49 47 0 47 0.96
BX-1E8®T M 49 50 4 54 1.10
BE-BHIF 49 34 0 34 0.69
&t 147 131 4 135 0.92
b % OB I ERTEIN 97 54 14 68 0.70
i | O I EE W 49 31 0 31 0.63
B F 49 28 1 29 0.59
HTIIRE 25 10 2 12 0.48
H 123 69 3 72 0.59
7o o T EE K 49 33 1 34 0.69
B F 25 22 2 24 0.96
BRI 53 34 2 36 0.68
&t 127 89 5 94 0.74
R E |[d 2 B I X[HRERN 135 81 4 85 0.63
" E w B I F|FvIT7EIN 106 91 9 100 0.94
B I |B I I ZF|KREHEN 136 93 7 100 0.74
IR | & I X% W 25 20 2 22 0.88
B F 25 30 2 32 1.28
= 49 46 6 52 1.06
T AT NYATA 25 26 4 30 1.20
&t 124 122 14 136 1.10




8[TXRICEY 2FF (BALHI LIS DFH) ]

BEAB EREEAR 2’
XHETHE |F % £ o4 (BLMHT) (B) SEEE
(A) 5 z &t (B/A)
FF |FF R I FEE W 25 26 2 28 112
S 49 56 1 57 1.16
TRERRMT 25 55 0 55 2.20
TEEAM 25 25 0 25 1.00
&t 124 162 3 165 1.33
BT B |BT H I X[KREER 123 97 20 117 0.95
BE |2 E I E¥ W 49 76 0 76 1.55
B K 25 34 1 35 1.40
IREEF 25 22 2 24 0.96
FaTWYARTL 25 30 0 30 1.20
&t 124 162 3 165 1.33
BERRE |B & I XE W 49 45 3 48 0.98
B OE 49 54 4 58 1.18
#Hh T 25 24 1 25 1.00
&t 123 123 8 131 1.07
T % & 1,860 1,539 232 1,771 0.95
I[TXITBIT R (HAHI DFR)]
k- IN-| RBRIEEANER B’
XA 4 |# % % B4 (BLMHT) (B) BEEE
(A) % z Ell (B/A)
KB X B I #HpPssIz 54 16 2 18 0.33
T-MEELIE 21 28 1 29 1.38
YATLI % 25 18 1 19 0.76
THAVIZE 25 19 5 24 0.96
FaTWYRTL 22 6 1 7 0.32
&t 147 87 10 97 0.66
B & 5t 147 87 10 97 0.66
- IN-| EREBEANE R
T (BLMHT) (B) _ HHEEE
(A) % z 5 (B/A)
2,007| 1,626 242 1,868 0.93
10 [F4P HefiT ]
BEAB RRIEE AR 2’
XHETHE |F ® £ Ho& (BxRbHT) (B) EEEE
(A) 5 z &t (B/A)
IR B F BRI 147 197 23 220 1.50
IMNEH  |Z E B F B MRS 147 206 39 245 1.67
MERIE 5 294 403 62 465 1.58




MIRXICEY5FF]

BEf£ AR EREHEAE i
XET# 4 |F ® £ L (B&REHT) (B) ISEEER
(A) B L8 &t (B/A)
HEAS =zE = 49 28 16 44 0.90
B & 25 15 26 41 1.64
B 9 25 11 57 68 2.72
E 99 54 99 153 1.55
A - Z|E=®F 25 17 12 29 1.16
BEmiZE 49 22 29 51 1.04
R IR 25 18 6 24 0.96
E 99 57 47 104 1.05
BaM |= E|B=TY MY 49 26 14 40 0.82
BE & 49 31 35 66 1.35
E 98 57 49 106 1.08
P = E|HHE= 25 18 18 36 1.44
BEmiZ 25 17 20 37 1.48
fk A E 25 20 8 28 112
E 75 55 46 101 1.35
R O|m B B =E=EHZF 25 15 18 33 1.32
BEHZ 25 10 32 42 1.68
B & 25 13 17 30 1.20
& 75 38 67 105 1.40
= ¥ &t 446 261 308 569 1.28
12[REICEET H5F R (BALHI LIS D) ]
B&AE XBRIEBEAE B &
XMETHE |# ® % B4 (B&RHT) (B) ISEEE
(A) 5 -8 &t (B/A)
P = %[k #h 25 1 36 37 1.48
B 9 25 23 27 50 2.00
&t 50 24 63 87 1.74
HE OB B OB =EETY 49 5 43 48 0.98
® E &t 99 29 106 135 1.36
13[REEICET 25 (BAIHDFH)]
B AR ERIEEANE B #®
XMETRE |# ® % B4 (B&RHT) (B) ISEEE
(A) L 3 &t (B/A)
AR |2 | EERE 49 2 47 49 1.00
B O Il OEt 49 2 47 49 1.00
% YN = ERIEEANE B
i (B&fEHT) (B) CEEE
® E & M A 2 | & | & (B/A)
148 31 153 184 1.24




14[184LICRE 9 %R

XHEF S |F U5 £ B £ (B&RiHT) (B) IEEE
(A) 5 £ it (B/A)
B H 55 e Hlfg 4t 26 5 6 11 0.42
2 i F 26 5 6 11 0.42
15[ =MTIZBET 5% %]
3PN -| RBELEANE B &
XHETF 4 |2 U5 £ B A& (B&RHI) (B) IS fEE
(A) e £ Hi (B/A)
¥E w a8 = ME 28 14 41 55 1.96
x i 56 29 92 121 2.16
HFHERA 28 6 62 68 2.43
B 112 49 195 244 218
= fr § 112 49 195 244 2.18
16[{fA B I1ZBE T 5% ]
- PN -] BERIEEANE &
XHER A |F U5 % B O£ (B&RHT) (B) IEEE
(A) g2 £y it (B/A)
B Eq SIREGKE 28 19 29 48 1.71
¥ - BHlx & 48 30 3 33 0.69
®x B § 76 49 32 81 1.07
17[ERREZRICEE I 525
S5 AE RELEANE B’
XHETH 2 |F % £ B O£ (B&RHI) (B) IEEE
(A) g2 £y it (B/A)
B £ = ] [ES - —IREEXR 98 73 213 286 2.92
BVEEAENR
HARANER 15 9 23 32 213
SN EDER 25 18 26 44 1.76
Hi 138 100 262 362 2.62
X B X B i ¥ E BEEER 56 37 5 42 0.75
EH B 5t 194 137 267 404 2.08




18[ Bt &

XHETHE |# ® % oA (B&fHT) (B) EEEE
(A) 2 % it (B/A)
XE [|X B|EM-RE 35 3 1 4 0.11
=% |= E|RFE XK 35 0 1 1 0.03
VANES' G VAN X|E=- R 35 3 3 6 0.17
ft & ® = 105 6 5 11 0.10
19[FEE %R
- YN | RREHE AR 2 &
XHETAE |# ® &l HEeGE) (BxfHT) (B) SEEE
(A) 5 L8 Hi (B/A)
£ H i E X 147 69 97 166 1.13
NEF P\ E F £ FITH10aEH 49 16 49 65 1.33
h77+5r B 25 28 1 29 1.16
YATLIEH 5 B 25 49 10 59 2.36
£V 2R 1EHR DB 49 37 14 51 1.04
&t 148 130 74 204 1.38
E OF M 295 199 171 370 1.25
20[#8&FR]
X YN-| XBRIEBEAE &
XMETH2E |# ® % oA (B&RHT) (B) EEEE
(A) 5 -8 &t (B/A)
PR OB B OB AR & 192 63 175 238 1.24
X H 2T R B & 164 89 70 159 0.97
HELS | B & & fE & 164 67 101 168 1.02
¥ |2 & B BB & 164 59 188 247 1.51
it F OF OB OB & 164 68 126 194 1.18
BEf |B O ¥ &K & 164 61 85 146 0.89
FE O|IF B B &K & 164 92 120 212 1.29
BT H BT B # &% & 164 63 123 186 1.13
RABK |RAB KK AR & 164 109 81 190 1.16
W |Bm E B &K & 164 49 123 172 1.05
wa®EH i 1,668 720 1,192 1912 115




21 [ 7€ B il 3RAE (B D FAR) ]

XTE# & |F " & Ba- BERX D |(BgEbY) (B) [EEfEER
(A) g2 | = | & (B/A)

FRE |- & 18 1Z2FHEE 54 27 27 54 1.00

2FEHEULE 6 1 1 2 0.33

= & 1| om 1Z2FHEE 54 20 25 45 0.83

2FEHEULE 6 1 1 2 0.33

340 1Z2FHEE 36 6 11 17 0.47

2FEHEULE 3 1 0 1 0.33

1Z2FMEEE 144 53 63 116 0.81

&t 2L L 5 15 3 2 5 0.33

&t 159 56 65 121 0.76

IE O B W WEER1~4E 1Z2EHEY 100 78 74 152 1.52

2FFEMRYLLE 50 2 4 6 0.12

&t 150 80 78 158 1.05

1ERFI2- 450 1Z2EHEY 46 41 16 57 1.24

1Z2FEMEEE 146 119 90 209 1.43

&t 2L L 5 50 2 4 6 0.12

&t 196 121 94 215 1.10

= % = . 1Z2FHEE 54 24 40 64 1.19

2FFEMRYLLE 5 0 0 0 0.00

= & & | om 1?@7@%’:’ 54 23 28 51 0.94

2FFEMRYLLE 5 2 0 2 0.40

340 1Z2FHEE 36 15 7 22 0.61

2FFEMRYLLE 5 0 0 0 0.00

1Z2EHESE 144 62 75 137 0.95

H 2BEAL L 5 15 2 0 2 0.13

it 159 64 75 139 0.87

2 it ¥k = . 12FHEE 54 26 24 50 0.93

2FFEMRYLLE 6 1 0 1 0.17

= & % | om 1?&*@%’:’ 54 13 37 50 0.93

2FFEMHEL L 6 1 1 0.17

340 12FHEE 36 12 14 0.39

2FFEMRYLLE 3 0 0 0.00

1Z2EHESE 144 51 63 114 0.79

H 2B EE 15 2 0 2 0.13

&t 159 53 63 116 0.73

NEF |\ £ F # B . 1Z2EHEY 54 46 32 78 1.44

2FFEMRYLLE 6 1 0 1 0.17

= & 1| o 1?@755\%‘ 54 45 26 71 1.31

2FFEMRYLLE 6 0 0 0 0.00

340 12FHEE 36 24 11 35 0.97

2FFEMRYLLE 3 0 0 0 0.00

1FREESE 144 115 69 184 1.28

H 2B L5 15 1 0 1 0.07

&t 159 116 69 185 1.16

3 i nNE&E#E1~3% 1Z2EHEY 120 95 103 198 1.65

2FFEMRLLLE 15 0 0 0 0.00

&t 135 95 103 198 1.47

1FREESE 842 495 463 958 1.14

E B il ER AR B I 5 2 FAAY L E 5 125 10 6 16 0.13

&t 967 505 469 974 1.01




22 [ERFIFEREMATRAEZR (FrLoPRI—)L) RUERHFHIRIEEMAHZER (FrLoom) ]
BEf£ AR ERIEEANE B &
XET# & |F ® % 4 - & BEERXRH |Exmb?) (B) IS S
(A) 5B & &t (B/A)
b3 VAN ¥:N KN EFEH 12EHEY 170 103 174 277 1.63
1~3%0 2FFEMRYLLE 15 1 3 4 0.27
&t 185 104 177 281 152
IR X I Fl#azs 12EHEY 170 126 97 223 1.31
1~3% 2L E 15 2 0 2 0.13
&t 185 128 97 225 1.22
HEAY [ B & ZRKEFH 12EHEY 170 115 103 218 1.28
1~3%0 2FFHELE 15 0 1 1 0.07
&t 185 115 104 219 1.18
b %R r E|#Ea%H 12EHEY 230 182 159 341 1.48
1~3% 2FEMREUE 15 0 0 0 0.00
&t 245 182 159 341 1.39
it i i El#R&EH 12EHEY 170 102 96 198 1.16
1~3% 2FEMEUE 15 0 2 2 0.13
&t 185 102 98 200 1.08
NEF P\ E 7 B EIEEHR 1EFHEY 60 41 35 76 1.27
1-28B &t 60 a1 35 76 1.27
1EFEAE 970 669 664 1,333 1.37
FRLUDRI—ILRUEFYLO®% § 2B L k& 75 3 6 9 0.12
&t 1,045 672 670 1,342 1.28




